More Word Problems – Decimal Numbers 
All quotes and information taken from Donatelle (2009), 'Health: The Basics' (8th edition).

1.  Recommended allowance of protein is 0.8 grams per kilogram weight. 

a) Calculate the recommended allowance of protein for someone weighing 72kg. (i.e. multiply 0.8 by 72)
b) Someone weighing 72kg has eaten:



100g cheese containing 23g protein



100g corned silverside containing 13.2g protein


How much of their daily allowance have they consumed and how much is left?

2.  In 2007/2008, Starship hospital treated the following patients:



23,106 Inpatient visits 


29,670 Children’s emergency visits 


58,349 Outpatient visits 


What is the total number of patients it treated?

3.  Normal body temperature is 37°C. If you are in Canada and the temperature is -12°C, what is the difference between the temperature inside your body and the temperature outside?

4.  A child is measured at 134cm. A year ago he measured 128.8cm. How much has the child grown in a year?


5. To get your maximum heart rate (M), in beats per minute, subtract your age from 220. 


Under moderate intensity physical exercise, your target heart rate zone should be between 0.5 × 
M and 0.7 × M.

a) Calculate the maximum heart rate and the target heart rate zone for a 20 year old.

b) Calculate the maximum heart rate and the target heart rate zone for a 40 year old.

6. One medium peach contains 6.9 mg of magnesium. If you eat 17 medium peaches in one month

a) ESTIMATE how much magnesium you have gained from these peaches by rounding the numbers to 1 significant figure and multiplying.




b) Calculate the amount of magnesium in 17 medium peaches.
7.  Ten macademia nuts contain around 2.24 g protein. About how much protein is there in one macademia nut?



8.  A pharmacist has a 8.5L bottle of medication. To sell to the customer she will pour this into 0.32L bottles. ESTIMATE how many bottles she will fill by rounding these numbers and dividing. DO NOT CALCULATE THE EXACT ANSWER.


9. Plasma from blood donations can be frozen and stored at -30°C. To thaw it, this temperature has to be raised by 34°. What temperature is this? 


(Extension questions)
10. Your body mass index can be calculated as your weight (in kg) ÷ your height (in m)2


A healthy body mass index is between 18.5 and 25. 


Higher than 25 is considered overweight.


Higher than 30 is considered obese.


Calculate the body mass index for someone that is 1.6m tall and weighs 60kg:

1. Square the height, ie (1.6)2
2. Round this to one decimal place to simplify the next step

3. Divide the weight by the answer to step 2. Give this to one decimal place.

4. Is this person healthy, overweight or obese?

11. In the US there is, on average, 1 violent crime every 22.7 seconds. 

a) Approximately how many crimes is this per minute? (Estimate, do not calculate exactly)

b) Use this answer to calculate approximately how many crimes this is per hour and per day. 

Answers: 
1. Recommended allowance: 57.6g; Consumed: 36.2g; Left: 21.4g

2. 111,125

3. 49°C

4. 5.2cm
5. 1. a) 20 yr old:
 Maximum heart rate = 200 beats per minute. 





Target zone: 100beats-140beats per minute


b) 40 yr old: 

Maximum heart rate = 180 beats per minute; 





Target zone: 90beats-126beats per minute

6. Estimate: 7 x 20 = 140mg

Calculation: 117.3mg

7. 0.224g (or 0.22g)

8. 9 ÷ 0.3 = 90 ÷ 3 = 30 bottles

9. -30 + 34 = 4°C
10. Step 1: (1.6)2=2.56; Step 2: Round to 2.6; Step 3: 60 ÷ 2.6 = 600 ÷ 26 = 23.07.., round to 23.1 Step 4: healthy

11. a)  3 per minute, b) 180 per hour, 4320 per day

